Wednesday 27th January 2021
Can I Multiply by 10 and 100 accurately?
5 x 100 = 
2 x 100 = 
100 x 9 =
65 x 100 =
27 x 100 = 
[bookmark: _GoBack]81 x 100 =
___ = 100 x 55
92 x ___ = 9200
100 x ___ = 1300
___ = 40 x 100
14 x 100 = 100 x __
75 x 100 = 7_00
5_ x 100 = 5400
_2 x 100 = 8200
__ x 100 = 9900
3100 = 10 x 10 x __


8 x 10 = 
3 x 10 = 
10 x 6 =
23 x 10 =
45 x 10 = 
97 x 10 =
__ = 10 x 72
31 x __ = 310
10 x __ = 190
__ = 60 x 10
39 x 10 = 10 x __
23 x 10 = 2_0
1_ x 10 = 170
_5 x 10 = 450
__ x 10 = 680
830 = 2 x 5 x __



